GAME RULES



SETUP

GAME MASTER: This game does not require a Game Master (GM),but a player can take on the role of
Facilitator if desired.

CHARACTER SELECTION: Each player chooses a biome to play as. More than one person can

choose the same biome if so desired and can be different areas or facets of it.

RESOURCE POINTS: The Resource Points (RP) are your “currencg ", which you can earn and spend.
Each player starts with 4 RP, which they will use at their own discretion during gameplay in Phase 1
You can use the suggested stat blocks or assign your own to the 4 stats.

Resilience Adaptability Biodiversity Regeneration
Aqguatic -1 1 1 0
Grassland 0 -1 1 |
Forest 1 0 1 -1
Desert 1 -1 0 !
Tundra 1 1 Y -1

KEEPING TRACK OF RESOURCE POINTS AND EVENTS IN THE GAME: each player, based on
their chosen character, gets a “Plaqer Character sheet . This can be used to keep track of a plagerys RP
during Phase 1 and 2 and to note down the challenges faced, creating a “historg " of how the 8arne’s

‘WOY ].C]. ]J(’:lS clevelopecl.

STATS: Your statistics or stats are your biome's innate abilities which you can use to respond to and

overcome the prol)lems you may face.
Note: these stats are based on scientific concepts and may have specific meanings for everyone. It is advisable to
spend a minute discussing how you understand these concepts and deciding what type of problems each stat

may help overcome.

RESILIENCE ADAPTABILITY REGENERATION BIODIVERSITY




GAMEPLAY

Gameplay takes place in 2 phases, each of which can take over one hour.

PHASE 1: “BUILDING THE WORLD”

“IN NATURE, NOTHING IS PERFECT, AND EVERYTHING IS PERFECT.” — ALICE WALKER

In this phase, you will plag how youy world develops. Each biome evolves 1)1] responcling to challenges,
where the challenges come from a selected sphere. Biomes have evolved and developed over millions

of years on this earth, who knows how they will change in yours?

THE BIOMES

FOREST GRASSLAND DESERT
f)

TUNDRA

TAKING TURNS

The players take turns to roll for and overcome a C]m]]enge for the biome they play. Using the
table below, roll a d6 to decide which sphere which will issue your challenge. On a 6, you get
to pick which sphere presents your challenge.

The player to your right decides what the challenge is, based on the sphere from which it

comes:

BIOSPHERE

ATMOSPHERE

LITHOSPHERE

4
5

HYDROSPHERE




DURATION OF THE PHASE
This phase continues until all RP are consumed.

A CHALLENGE IS PRESENTED

A challenge is presented, and the player offers a solution. The group together agree which stat
this solution falls under (e.g., Resilience, Adaptability etc.). After, the player begins to roll

their dice. This is determined as follows:

The player should firstly decide how many RPs that they want to use up to overcome this
challenge. The player starts with two dice. They are then given a number of additional dice
equal to the Resource Points they are investing +/ - their stat, to which they have now

assigned these resources.

Note: Only real-world examples of challenges are presented within these game rules (see Appendix y/]

If the players want to invent more fantastic examples, they are welcome to do so!
NUMBER OF ROLLS:

Before rolling, the player needs to assign a number of their Resource Points to this turn. The

number of rolls is determined by the following sum:

Number of rolls = 2 + Assigned Resource Points + Stat
COUNTING PASSES:

For each of the rolls (based on above), a pass is granted if the player rollsa D or 6.
OUTCOME OF THE CHALLENGE!

O Passes: Failure.

The strategy fails, the Resource Points are lost, and the stat that was used takes ~lto

ongoing rolls.

1 Pass: Mixed success.
The strategy succeeds but the biome is affected. The player must choose between

losing the Resource Points put forward or taking -1 to the stat used.

2or 3 Passes: Success.
The strategy succeeds. The Resource Points that were assigned to overcome this
challenge are now added to the current stat. All rolls with that stat going forward

take that number of RP as a plus.

4 or more Passes: Strong success.
The strategy succeeds. The Resource Points that were assigned to overcome this
challenge are now added to the current stat. In addition, the player gains a new

resource point to be used as they wish.



EXAMPLES:

Sally is playing as the Aquatic Biome. The Challenge presented is ocean aciditication. Sally assigns 2
ofher RPunder biodiversi ty ) describing an acidotrophic algae that returns the ocean pH to the
previous level. Sally s Biodiversi ty stat is +1 She rolls 2 base dice, +1 for her Biodiversity stat. and +2
for her RPshe has assigned, for a total of D dice. She rolls 4 5, 0, | and 2 This is a Success as there are 2
passes, and so she marks the Resource Points as assigned to Biodiversity, and the Challenge is

overcome.

Robin is playing as the Forest Biome. Their Challenge is a volcanic eruption that shoots ash into the air,
blocking sunlight for an extended period of time and preventing effective photosynthesis. Robin s
proposed solution is tree dormancy, using Resilience. lf successtul, the trees will hibernate until
sunlight returns to optimal levels for photosynthesis. Robin s Resilience is 0, and they assign 1 RP to this,

so tbey roll 3dice. T]wy roll 2 ], and 4 - zero passes. Thisisa failure, and so Robin loses the RPand takes
~1 to Resilience rolls going forward.

PHASE 2: “FLOURISHING OR COLLAPSING SOCIETIES”

“WE DON'’T INHERIT THE EARTH FROM OUR ANCESTORS, WE BORROW IT FROM OUR
CHILDREN.” — CHIEF SEATTLE, NATIVE AMERICAN LEADER.

You have developed into a strong set of biomes able to adapt to and survive the whims of the climate
system. Now you must attempt to reach this stable state of equilibrium, to let the world “flourish”, and

prevent ecosystem collapse.
TAKING TURNS

You are no longer playing as the biomes themselves. Now, in this phase of the game, you are
playing as societies living within your biome. Here, you are attempting to survive and thrive in

a complex climate system, while both using and conserving the ecosy stem’s resources.
DURATION OF THE PHASE

This round will either end in a ﬂourishing set of ecosystems in equili]arium, or ecosystem

collapse.

A CHALLENGE IS PRESENTED

The cycle of rolling for Challengesnow begins again. This time, instead of assigning RP from
their own pool, players describe how their civilisations use their own or other biome's resources

to overcome a C]m]]euge. The challenge is created by the player to their right.
NUMBER OF ROLLS:
Number of rolls = 2 + Assigned Resource Points + Stat

Stat from own or other biome.
This time, the Statcan come either from the plager’s own biome, or from another
player. In the latter case, this represents an interaction between biomes (and the

resilience of the full ecosystem of your world).



Assigning RPs.

A player can use multiple RP from their own biome if they are assigned to the same
Resource.

A plaq er can use RP from a maximum of 1 Resource from another biome.

If a player is using another play er's Resource, then their roll will determine whether
they gain access to that Resource for use in future turns.

The Player from whom the resource originates will also roll to determine if their
resource is degraded or comes out stronger following its interaction with another

biome.

COUNTING PASSES:
For each of the rolls (see above), you get a pass if you rolladora 6
OUTCOME OF THE CHALLENGE:

If using only your own RP:
O Passes: Failure.

The strategy fails, the Resource Points are lost, and the stat that was used
takes -1 to ongoing rolls.

1 Pass: Mixed success.
The strategy succeeds and the Civilisation survives the Challenge, but the

plaq er loses the RP.
2-3 Passes: Success.

The strategy succeeds.

4+ Passes: Strong success.

The strategy succeeds. The player's resource gains an additional RP.

If using borrowed RP:
O Passes: Failure.

The strategy fails, the Resource Points are not retained and the stat that was

used takes ~1 to ongoing rolls

1 Pass: Mixed success.
The strategy succeeds and the Civilisation survives the Challenge, but the

player loses I RP from an appropriate stat as agreed upon by the table.
2-3 Passes: Success.

The strategy succeeds.

4+ Passes: Strong success.
The strategy succeeds. The player gains IRP in the form of the Resource used,

assigned to the stat used.



I your RPis })eing borrowed:
O Passes: Failure.

The player permanently loses IRP from the Resource.

13 Passes: Success.
The player retains the RP.

4+ passes: Strong success.
The player gains +1RP to their Resource going forward in the game, and this

is assigned to the same stat as the Resource.

EXAMPLES:
A guick guide to a typical turn in phase 2is given in Appendix 2

Robin s Forest biome is faced with a depleted wildlife population due to disecase outbreak after rolling
a Biosphere Challenge. They do not have a suitable Resource with which to counter this Challenge,
and so decide to use Duncan s butfalo Resource. Tl hey describe their civilisation coming from the Forest
to the Grasslands to take herds of butfalo and breed them to become a more manageable size for their
Biome, while remaining a p]en titul source of food. Because this Resource on'gina]] y ]Je]ongec] to
Duncan, t‘]zey both must roll Robin rolls 2d0 + ]c]@, b ]Jeiug their Biodiversi ty score, and, gets 6, 5, 3-2
successes. The strategy succeeds and they now have a new RPunder Biodiversity, in the form of the
Forest Buttalo. Duncan also rolls to see it his Buffalo Resource is c]ep]eted. He rolls 2d6 + 1d0, for his
Biodiversi ty score, + another dO for his other Biodiversi ty RP. He rolls 5, 2 4, 3 — Osuccesses. [He loses
one of the two RP assigned to his butfalo.

Sally .;’Aqua tic Biome receives the Challenge of sea level rise threatening her civilisation sisland
homes. She decides to use a Resource she had put under Adaptability, where she had created

mangrove swamps. Now she describes her civilisation propagating and cultivating these mangroves to

shore up the islands and combat floods. She had +1 to Adaptability and IRP from the mangroves, so
rolls 4d0. The results are 6, 5, 5, 2— Isuccess. Because this is a Mixed Success her civilisation succeedls
against the Challenge, but not without losses. Sally can choose either between losing the Resource or
taking -1 to Adaptability going forward She chooses to take -1 to Adaptability, and the mangrove

swamps survive.

END OF GAME

The game ends when one of two outcomes occurs.

Collapse. This occurs when one player ends a round with 50% or more of the existing RP. At

this point their civilisation is deemed to have created widespread instability across the world.

quilil)rium. This occurs when, for 1 round, all plag ers end the round with the same number of,

or more, RP points as they began it with.



APPENDIX 1

LIST OF POTENTIAL SPHERE CHALLENGES

) ) ) )
Fungal growth — Heatwave — Blizzards —  Earthquake — Flood
— — — —
) ) ) )
Algal blooms — Coldwave —  Avalanche — VOICa,mC —  Stormsurge
Eruption
— — — —
) ) ) )
Pollinator Hurricanes and Orogen'g .
extinction Tornadoes — Meltwater floods — (mountam~ — Tsunami
creation)
— — — — —
) ) ) ) )
rop/ tores . ermatros eep ocean cean
C /{ + C}mnges to P frost D 0.
i — atmosphenc — . 1 . ] 1. .
diseases . thawing trench formation acidifcation
composition
— — — — —
)
— Drought
—

APPENDIX 2
QUICK GUIDE TO PHASE 2

Failure. 0 Passes. — The RP are lost
and the stat takes -1 going forwards

Mlxed success. 1 Pass — Lose the
RP

the stat, plus dB equal to the RP
Success 2-3 Passes. —The
strategy succeeds.

Player A decides to use their
own Resource

) Player Arolls 2d6 +/- db equal to

Strong success. 4+ Passes — Gain a
new RP to the same resource and
the stat used.

Failure. 0 Passes. - The Resourc
Points are not retained and the stat
that was used takes -1to ongoing

Player A is faced with a rolls
Challenge o

N

Mixed success. 1 Pass - The
strategy succeeds but the playe
loses 1 RP from an appropriate staf
as agreed upon by the table.

Success. 2-3 Passes. — The
strategy succedds

2

Player A rolls 2d6 +/- d6 equal to
the stat, plus 1d6 for the RP

Strong success. 4+ Passes — Gain
Player A decides to use 1RP in the form of the Resource
Player B's Resaurce -] used, assigned to the stat used.
Failure. 0 Passes. — The player
permanently loses 1RP from the
Resource

Player B rolls 2d6 +/- d6 equal to
the stat, plus 1d6 for any
REMAINING RP from the same
Resource

Success 1-3 Passes. The player
retains the RP.

Strong success. 4+ passes. The
player gains +1 RP to the Resource
which was used, assigned to the
same stat, going forward




